Nodal Analysis- Example i, ~Ve
9 Eq"\fQ C\/ \} >+ m-S

25-—5\[2:%‘_’ 3—\—}0;—/@?;/

V, = =\
2 J \/4/0.5‘ \/_\/3

o O

——C\/ \)>_\,C\/ \/B*bno
->/+»/+»/ Vo2, A+, = O

=N AN, 2N, © O—> +2\/ =5

> &
@ N4,
La—\ru}-\—bé—t +L9
B ~V _V/, \V, \f, =M
— t 8+ 4 :,__,‘L_._\.— 4 s
W =N A T 0-5 0-c On
_ V,
S vV 432+ 2_\/5/2\/%, z\/%-a— e 4 f:/;—

G =il i ?——2\/3—& \oVi:s-vgj@f—@




V\U‘\'\ ?\‘6 & b% G/
@ N QA\,\/L[, 20V = (08 —/
lTle =2 Halbipy @D bd —27 g
\, -V >
Oiﬂ—g*ojtf\j) 3+ \/f_L ‘ 1@+ 39V + 4L
Y, »S\/ +2\f -2V, + Ve @;?/' 15*0

Tr @ ;z(g 1\/+ +\ov% V=8 Fﬂf’“\'
- O —I—L_\.—\/ _‘-‘O\IL\,_S—\IS‘:Q B ~L:?i+5‘\/"v
1 Ur\/ Sv =2 | — « = I{f 55\7
S @7 o : ‘

O - 49, ﬂ—?)r\/ —6N= 3

=N, —Ne = — T F——@




